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MODEL PAPER
GRADE 7
SCIENCE PART - A (Objective Type)

[Paper A: 48 Marks, Paper B: 52 Marks, Total: 100 Marks]

School :
Tehsil: District:
Student Name: Section:
Roll Number: Date:
General Instructions for students : el o i (¥

1) Use mask & keep at least 3 ft. distance from each other.
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2) Read carefully and attempt all questions.
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3) Encircle the correct option of each of the Multiple Choice Questions (MCQs) as shown in the example given below.
e VWO B TG L S Bois 28 L e JE W Z
Example: Covid-19 is caused by:
te o J19—$’»’/2J@‘
a) bacteria E/:*;J; b) fungi &L;’
(©) virus J s d) algae U%’

4) If more than one options are encircled in a question, no mark will be given.

bbb AT WS L liznl e Lty S

I Total Marks: 48 I Part-A (Multiple Choice Questions) I Total Time: 1 Hour

Instructions: Thirty two (32) Multiple Choice Questions (MCQs) are given in this paper. Each question carries 1.5 marks.
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Question No.1: Which one of the following diseases is NOT due to disorder of respiratory system?
?dyu“a_m‘fdt;u*f“d//u/dm JU/LJJ;CH I/Jlr‘
(a) Ulcer /J| (b) Influenza y/ )L“)l (c) Tuberculosis u, _/ (d) Pneumonia .[,:/
Question No.2: Which of the following cells carry oxygen to cells of our body?
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(a) White blood cells KA (b) Red blood cells Kt
(c) Platelets U:e _»,;& (d) Nerve cells ).'./ 4/
Question No.3: Both breathing and burning procesess use oxygenandrelease ______
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(a) nitrogen u’?,/*«/[; (b) carbon dioxide LT dyj i

(c) ammonia 24 (d) hydrogen Cﬁ)//}gl[



Question No.4:

(a) 110/80 mmHg

Question No.5:

(a) high blood pressure

(c) heart attack

Question No.6:

(a) Weak plants

(c) Colourful plants

Question No.7:

(a) pollination

Question No.8:

(a) Deserts

Question No.9:
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Question No.10:

(a) Thick Fur

(c) Streamlined shape

Question No.11:

(a) Byincreasing growth of algae

(c) By spreading diseases

Question No.12:

(a) soft water

(c) pleasent water

Question No.13:

(a) Atom

()’11 (b) Molecule d{gt (c) Element /@-‘

The normal value of blood pressure of a person is:

_‘Lgn /!ﬁ/(fﬁ./“ﬂgjjtu’:uﬂ;bg :4/7}J|/

(b) 120/80 mmHg (c) 120/70 mmHg (d) 110/70 mmHg

If a person feels cough and tightness in his chest, he is patient of:
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Cross-pollination produces which type of plants as compared to self-pollination?
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The process through which all living organisms produce more organisms like themselves is called:
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Uﬁj d?f d&/j,/?,‘/ (c) fertilization L’/.%//U.:é/

Which of the following habitats receives rain all year around?
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(b) diabetes

(d) asthma

(b) Strong plants

(d) Fruitful plants

(b) reproduction (d) germination o 7
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Fill the empty circle with a suitable organism.

u[;,:(/ (b) Rainforest (c) Aquatic (d) Grass land i KJJ
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Snake lives in the desert. What adaptation do you think enabled it to live in desert?
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How becteria causes water pollution?
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(b) Scaly skin

(d) webbed feet

Sy P d u%; (b) By releasing toxic gases
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The water which does NOT produce good lather with soap is called:
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(d) By causing acid rain

d.l: r/ (b) hard water
d.l: J|ﬁ}7‘

Which is the smallest particle of matter?

(d) unpleasent water
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(d) Compound



Question No.14 :

Question No.15:

(a) Sulpur
(b) Magnesium
(c) Aluminium

(d) Argon

Question No.16:

(a) Physical change
(c) Chemical change

Question No.17:

(a) wetting dry cloth
(c) lightening a bulb

Question No.18:

(a) Hydrofluorocarbon

(c) Hydrocarbon

Question No.19:

(a) Both are good absorbers of heat
(b) Both are good radiators of heat
(c) Shiny surface teapot keeps the tea warmer for a long time

(d) Black surface teapot keeps the tea warmer for a long time

Question No.20:

(a) Expands and becomes heavier

(c) Contracts and becomes heavier

Identify the atomic structure of Beryllium.
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Rusting of iron is which type of change?
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An example of irreversible change is:
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(b) Change of pressure

(d) Change of colour
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L/U;fl%_,&? (b) mixing salt in water
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What is the main compound of automobile fuel?

(d) rotting of fruit
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(b) Nitrocarbon
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K 357 (d) Chloroflourocarbon
Identify the correct statement about the shiny teapot and black teapot.
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What happened to air when sunlight heats it up?
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(b) Expands and becomes lighter

(d) Contracts and becomes lighter



Question No.21: Identify the process of conduction from the figures given below.
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Question No.22: The ratio of the speed of light in vacuum to the speed of light in the medium is called:
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(a) reflective Index Lf..(j,] ;g@} (b) refractive Index Jgi!;g//

(c) transmitive Index J..Ci] ;/1/" (d) dispersive Index Jgj;yﬁj
Question No.23: The pencilin the glass of water looks like broken at the waterline, it is due to:
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(a) reflection ST
(b) dispersion u’ Ve
(¢) diffraction B=E
(d) refraction U:{/ﬂ/

Question No.24 : Which colour will be produced by mixing red, blue and green colours?
?c‘;t‘l’u:)}%.f/l/u:raéL.f/ﬁ/}lgcé/ !24/Ji/
(a) Yellow L (b) Pink GLK/ (c) Orange ‘j:/t (d) White A
Question No.25: Hertz (Hz) is the unit of:
?‘Lﬁa’zgzl,@f L///b/; :25/:‘;&!/
(a) Speed /BJ (b) Frequency u*’,{/ (c) Wavelength Q}éjz, (d) Amplitude j}f’ J;Q
Question No.26: According to the diagram which glass has the highest pitch?
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Question No.27: Which of the following is the best material for making ladder for electric work?
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(a) Aluminum (:.‘./,b (b) Fiberglass u’%/[, (c) Wood 6}5 (d) Iron [!,J

Question No.28: The process that is used to coat a metal object with a thin layer of another metal is called:
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(a) electrolysis JJ,/”«Q (b) electroplating _,@'&& ,/‘:Q;
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(c) hydrogenation Wﬁ,//’gg (d) distillation u“/.'.'lf“j




Question No.29:

(a) Decrease in resistance
(b) Increase in voltage
(c) Stoping of current flow

(d) Increase in current flow

Question No.30:

(a) white dwarf

Question No.31:

(a) galaxy

Question No.32:

(a) Cassiopeia
(b) Megellan
(c) Andromeda

(d) Milky Way

What will happen if the X labeled part is broken in the given series circuit?
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When large amount of energy is generated in protostar, it becomes:
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Clouds of gases and dust are called:
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(b) a star (d) nebula Ust

Sy e (c) red giant
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U/ﬁf (b) star ol (c) universe 14 (d) nebula J_J,;'

Identify the name of galaxy shown in the given below image.
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